solafl

HOSPITALITY

FLEUR'E 18/10 Stainless steel




solafl

HOSPITALITY

FLORENCE1WWSM%%H%

MODERN




solafl

HOSPITALITY

[<E)
[<E]
=
7]
2]
%]
=B
=
(2]
st
(o]
o
—
~
(o =]

=
o=
[
o
o
=

1

HERMITAGE




solafl

HOSPITALITY

[<E)
[<E]
=
1%2)
w
w0
=5
=
(2]
Jrac]
(o]
o
—

=
=
L
a
o
=

LIMA 1/

AL D N2 YmemANC

A DM D ™ Ve

T L L







solafl

HOSPITALITY

MUNTREUX1WWSW%$$M

MODERN




solafl




solafl

HOSPITALITY

PRlV".EGE 18/10 Stainless steel

MODERN

Jyesios




solafl

HOSPITALITY

DURBAN1meWM$$M

MODERN




